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https://docs.google.com/presentation/d/11h9_XCLZ65ftrR0qbL8_uqnRkonKnaCQkPj5on0vzmI/edit?usp=sharing
https://gist.github.com/codeSG/4437c2494fc1ab64eafc2e974ec1d426
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https://docs.google.com/presentation/d/1VRVt5X6ODKniz6kIJl7wuFrK3edGmXahnNIhkkzdXDo/edit?usp=sharing
https://gist.github.com/codeSG/255b648fb4dc78569af4548ea045af22


Experimentation: Parallel Dijkstra

➢ Distributed Graph(vertices and edges) among processors.
➢ Apply dijkstra’s algorithm over distributed graph
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Fig. Distributed Graph  with 
        Two processors & 7 nodes 
   
             Code

https://github.com/codeSG/pgrouting/blob/parallelDijkstra/src/parallel/README.md
https://github.com/codeSG/pgrouting/blob/parallelDijkstra/src/parallel/Example_1/README.md
https://github.com/pgRouting/pgrouting/blob/gsoc/parallel-dijkstra/src/parallel/Example_1/parallel_dijkstra_test_1.cpp

